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Az TAIHES M | HI=! 1t
3 DIAXEE TAHE =8
SRl ZAIHE =8 2 EER=E)
AR 2N - B S2(3H) - NRAY - BES 0l Ao A timE=FT
SAAE= 337,273,973 275,275,493 61,998,480
= 217,673,091
= 4,867,000
Jl 58,084,000
Al 55,189,882
H 1,460,000
A= 5,789,790 3,568,229 2,221,561
= 4,867,000
Al 922,790
OIcHXIEEE AIHE =8 5,739,800 3,513,600 2,226,200
= 4,867,000
Al 872,800
TAIAE =g 2l 872,800 1,479,600 606,800
SAAE 2 e =2 192,800 179,600 13,200
201 er23| 148,400 148,400 0
01 At2teltl 148,400 148,400 0
OEAHERARJE EANA=ESSARE 29
=g 60,000,000 60,000
OZAIHERRS] ot R0 &
59,600,000& 59,600
OZAAHE & M 8,800,000 8,800
O=AEHELES XS 20,000,000 20,000
203 HR=H| 13,600 13,600
03 A= LR FAI| 13,600 13,600
OFAHEY S 82 4,200,000 4,200
OEAIHEANG =& 9,400,000 9,400
308 XXM SOIA 30,800 17,600 13,200
13 S [2S0He 4 A AS At 30,800 17,600 13,200
O=AZeHE S08 S
30,800,000 30,800
SAAHE HE J=EAN EY 80,000 80,000
207 H5oH2H] 80,000 80,000
01 H2E4H| 80,000 80,000
OJI2H8 SHBLIHEY S
80,000,000 80,000
N7 SEXS XRSAAHE =8 2F 250,000 250,000
207 AR 250,000 250,000
01 2 EAH| 250,000 250,000
OXFE A=, deatdderdll, usd
gt S 250,000,000 250,000
N7 O - AdE dR XRHLHE =8 89 200,000 0 200,000
207 ARl 200,000 200,000
01 H1ESH| 200,000 200,000




= SAHE=S M T SAIHE D

X OlHXEE TAHE =2

SRl TAIHE =F 2l EER=E)
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH ST Hnz=2
SHrTATSRE T == - 0] p ot se

OXRE2AHE, dtstFHetE I, wEd
SEIL S 200,000,000& 200,000
SAHERIRS SE2EAAE P =29 150,000 0 150,000
207 A OH | 150,000 0 150,000
02 AN E| 150,000 0 150,000
OZAHE A2 SE2CIAAY 2=
150,000,000& 150,000
HEHIsHA 2te| 4,867,000 2,034,000 2,833,000
s 4,867,000
LRSS 22|(HE) 5,760 5,096 664
s 5,760
201 2Et2 & 2,560 2,216 344
= 2,560
01 ArR2eltl 2,560 2,216 344
OMNgHe7 22| Sl
2,560,000& 2,560
s 2,560
202 Ot 3,200 2,880 320
s 3,200
01 =B 3,200 2,880 320
OMEHE7S el SEHYI
3,200,000& 3,200
s 3,200
HEHst 2 2el(XIH) 39,240 40,904 A1,664
s 39,240
308 KXISHMSOIH 39,240 40,904 A1,664
s 39,240
01 XN BAELS 39,240 40,904 A1,664
OJHEHS 7 2eltl 39,240,000 39,240
s 39,240
RIS F=RIKIRAA 4,822,000 1,988,000 2,834,000
= 4,822,000
403 XX SHHSKH=01A 4,822,000 1,988,000 2,834,000
s 4,822,000
01 X SHHAZE X 4,822,000 1,988,000 2,834,000
OMEME 7 =X ALY
4,822,000,000& 4,822,000
s 4,822,000
HE2HZH| 49,990 54,629 24,639
Jl2ZHI(ZAIAHE D 49,990 54,629 A4,639
A2 49,990 54,629 A4,639
201 2E2 & 20,470 22,943 2,473
01 ArR2eltl 20,470 22,943 A2,473
ORA2d+EH| 6,630,000& 6,630
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M 1 SAIHE

424 - BB O9(3) - MRAY - BAS o ar A HDS2

OJlzge=d Sl 13,840,000 13,840

202 04l 17,880 20,046 N2,166
01 2LHOIH 17,880 20,046 N2,166
OJlzge=+4 04| 17,880,000& 17,880

203 =4l 11,640 11,640

01 J[2=2EHIRFL| 6,600 6,600
Oo=% 6,600,000& 6,600

M EASHLRFAH 5,040 5,040 0
OFA2IERFA| 5,040,000& 5,040
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20248 =0ila LERIH TAIHE=

A= TAIHEZ 25 0 SAlZ2 D
& XS &5 SAZ2 /st 9EsE T Al
C: TAIZR2IHE =8 - " (EEEE))
AR . 2N B 09 (3H) - NRAY - B2 Ofl bt aET MimE=E)
d=- A - 35 = 45 . 0l & =
SAI 22| 435,700 39,167 396,533
X &g SN2 8 AFSE T A2 409,800 12,000 397,800
SAIZCEAHE 8 - | 409,800 12,000 397,800
TAIZEHE 23 HEHR =X 9,800 12,000 A2,200
202 O4H| 1,800 1,800 0
01 2LHAHY| 1,800 1,800 0
OXREHAHE L SAIHEALE 2 A2
28 S& 0| 1,800,000 1,800
203 YR =XIH| 3,600 3,600
03 AIZHF=RIAR=AIH| 3,600 3,600
OX RS HE L SAIHEAIL 2 AR
=X 3,600,000& 3,600
308 AXIHHSOIA 4,400 6,600 N2,200
13 SI2SHUSEANAEAIEHI 4,400 6,600 A2,200
O AIZ2IHE (KRR HE, TAIHEAIA
) ot 22 4,400,000& 4,400
OIMAl XL HE(FSE) HHl =49 400,000 0 400,000
207 A IHEHH| 400,000 0 400,000
01 42| 400,000 0 400,000
OQIFAl XIEHSIHE (1) Y| B
400,000,000& 400,000
SHM2AAHI 25,900 27,167 1,267
|[2AH| (S Al22| 1) 25,900 27,167 N1,267
2M4S9H| 25,900 27,167 N1,267
201 LBt AY| 14,860 15,708 A\848
01 AFR2telt| 14,860 15,708 A848
EA2d+2H| 9,460,000 9,460
OJI2gRrs S| 5,400,000& 5,400
202 04| 7,440 7,859 A419
01 2 Y| 7,440 7,859 A419
OJ2g2aa oyl 7,440,000& 7,440
203 R =&IH| 3,600 3,600
M BEASHEAIZF=ERIH| 3,600 3,600
OFNMSY YRR 3,600,000 3,600
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20248 =0ila LERIH TAIHE=

A2 2N BB O9(3) - HRAY - BES Ofl by A HImEET
gh it 11,943,977 12,030, 148 A\86,171
Al 10,483,977
TH 1,460,000
AIIER EAEE =4 10,000 0 10,000
J|EEAIEAIS KR 10,000 0 10,000
JIBINERYEZE R = 10,000 0 10,000
308 AXISHHSOIA 10,000 0 10,000
(02 SE = 10,000 0 10,000
OJBANERYEZ 022
10,000,000 10,000
MOl TAPDRY =& 1,841,419 3,497,441 1,656,022
=2 AXM=EZA =4 1,841,419 3,497,441 A1,656,022
SRAIElI AFHZF=& 1,833,310 3,189,332 A1,356,022
201 Let23H| 6,590 7,612 A1,022
01 At2teldl 6,590 7,612 N1,022
SRAEl TADIEAIY =& =2H|
4,814,000 4,814
OFAANEl SADHEAIY =& S|
1,776,000& 1,776
202 044 3,120 3,120
01 =2LHM Y| 3,120 3,120
OZZAAIEl TAIHEAISH PN ]
3,120,000& 3,120
203 SR F=&IH| 3,600 3,600
03 A=A HRFXIH| 3,600 3,600
OMNLEAIY 2 2|2 JR2FX
3,600,000& 3,600
403 REXISHHIS K | 1,820,000 3,175,000 21,355,000
02 SI12SUIH =& 2| 1,820,000 3,175,000 1,355,000
OQIE25 & It 2% 2 EXZ2A
1,820,000,000& 1,820,000
SHAMEZ Al ZHANSH 8,109 8,109 0
201 Let2IH| 5,836 5,836
01 AFR22ld| 5,836 5,836
OdHATAl FA =FH| 5,836,000& 5,836
202 0441 2,273 2,273 0
01 =LHO4b] 2,273 2,273 0
OB AT Al =& (4] 2,273,000& 2,273
g A 44,368 44,368 0
A (S AIDHE D) 44,368 44,368 0
NGl 44,368 44,368 0
201 LEt2HH| 28,679 28,679 0
01 A2l 28,679 28,679 0




CAlHE =
. HESHAH|

EF%?—I: IO%;I(O':AIJH%*EP) (S &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HnsZ
ORAN2g+EH 15,079,000& 15,079
OJl=gR+3 =] 13,600,0002 13,600
202 (4t 10,889 10,889
01 =04 | 10,889 10,889
OJ=2dR=+d 0l 10,889,000& 10,889
203 R =& 4,800 4,800
04 RA2IERFEH 4,800 4,800
EA2IHRFAHI 4,800,000& 4,800
HRES (AN D) 10,048, 190 8,488,339 1,559,851
Al 8,588,190
XH 1,460,000
LHEHeH XI= 8,370,870 8,488,339 A117,469
O~z dcl3ate 7,012,255 6,993,391 18,864
705 O~ RIS aE 7,012,255 6,993,391 18,864
03 Al - SRS IS0 == &S 6,000,000 6,000,000 0
SRS TAIDHEALS CHEHAISH] Ol
3 #3 &8 6,000,000,000& 6,000,000
04 Al - EXISIHED IS0~ 0 KHatEt 1,012,255 993,391 18,864
O=22sT TAHZAIS HRAIZH] Ol
= OIXt+ 2f&t 1,012,255,000& 1,012,255
fl—==dclsae 1,358,615 1,494,948 A 136,333
705 =Rl ate 1,358,615 1,494,948 A 136,333
03 Al - EXIGNED I SH-SAS&E 1,170,000 1,307,700 A137,700
FoINEE2 MMSAIY XSRS &
3 &E 1,170,000,000& 1,170,000
04 Al - SXISNED IS0 =3 0| Ktate 188,615 187,248 1,367
OZUNEEZ MEFAIY XSEI= 0l
At &t 188,615,000& 188,615
BEXE 1,677,320 0 1,677,320
Al 217,320
XH 1,460,000
XA S0 RHat 2t 207,320 207,320
311 XS0l Atk 207,320 207,320
02 Stz |2 XU S0IAtate 207,320 207,320
OZNEEZ AMSIAIY XYM =2
OI Xt &8t 207,320,000& 207,320
sS4 1,460,000 0 1,460,000
XH 1,460,000
601 XL =R=at& 1,460,000 0 1,460,000
T 1,460,000
2 Ssl=asl|2NL=d=aE 1,460,000 0 1,460,000
OZNEEZ MMGAIY XIEXH Xtz
= o 1,460,000,000& 1,460,000
T 1,460,000




Az TAIHES EA  ZAIDHE D
3 WRS(ZAD 2D
thel: B8XE (CH9: &S1)
- e - dEE =5}
2N Y. G(BH) - HRAY - BES ol &t e HIDE
JBANERYES =3 10,000 10,000
802 grat=DIE 10,000 10,000
03 JIEIBHE = S 10,000 10,000
OJIEANERYES e 10,000,000& 10,000
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20248 =0ila LERIH TAIHE=

D EAIHE=
© 2O0I™ g HE Z=A

Rl 20 SEMUIX OHEHE =&

(i

M 1 2R00IEIE

A2 2N BB O9(3) - HRAY - BES Ofl by A HImEET
T2CHOI XN Dt 17,829,849 14,668,829 3,161,020
S0l JHEAHE =& 10,913,100 2,167,707 8,745,402
=20 SEMBHXI JHEAHE =& 2,145,940 175,140 1,970,800
MBEZIH L 5070 S Ol™ 19,760 25,140 A\5,380
201 Let2IH| 16,520 18,800 N2,280
01 AtR2teldl 16,520 18,800 N2,280
OABIENE s S 29
16,520,000 16,520
202 0441 1,800 1,800
01 =LHO4b] 1,800 1,800
O=Z=20 Ol g2+ S0
1,800,000& 1,800
203 AR F&lY| 1,440 1,440
03 AMIBFAHRZ=ZIH| 1,440 1,440
O=Z20 Ol&dAH = =8 L OIdAIY =&l
1,440,000& 1,440
HR ZAAAE S 01H 376,180 0 376,180
207 AN 376,180 376,180
01 AREAY| 376,180 376,180
ONl2+ ZAIAE 01 JlE7a & BEd
N 376,180,000 376,180
TEEZ FH BEINEALE 1,750,000 150,000 1,600,000
403 REXISHHIS K201 1,750,000 150,000 1,600,000
01 AEXIHH A =22 X 1,750,000 150,000 1,600,000
OREEL SZHLSAL
1,750,000,000& 1,750,000
BIEtE 0SS HEHE =& 1,217,169 1,992,567 ANT75,398
OOl ggdor DM 5 26,750 23,760 2,990
201 LEt2HH| 22,000 18,900 3,100
01 AF222ld| 22,000 18,900 3,100
OAIZIENR2S 2 S
22,000,000& 22,000
202 0441 2,590 2,700 A110
01 =ZLHOdHI 2,590 2,700 A110
OBI0 exyer 2 5 ARl S2H
(1=l 2,590,000& 2,590
203 R =&IH| 2,160 2,160
03 A=A HRFXIH| 2,160 2,160
Q&I et - &8 5 =X
2,160,000& 2,160
OOl S*RES 200,000 0 200,000
401 A2 HIYL 204 200,000 200,000
01 Al&HI 200,000 200,000




2 CAHE= SAN : 220Xt

Hu: 2001E N £

CH9l: BHSIZOIPSS JHYHE EA (12l M2
A2 2N - FB - O9(E) - HIRAY - BES Ofl b o= HIR=2
SREe sl ek v == = Oi ko =
OME2Y ZAAL EIZHEA 242
200,000,000& 200,000
IOl B o322 22| 700,000 1,039,507 A339,507
308 AXISHMSOIA 700,000 939,507 A239,507
13 BI |2 SOICHEH B A X LE AL 700,000 939,507 A239,507
OWITOPN B HYB2 22| SISHCHEY|
700,000,000& 700,000
BIOE AR A A 200,600 389,000 188,400
201 B2 AL| 199,100 389,000 189,900
01 ArR22elt| 8,100 9,000 A900
OABIASAIY BIIRIRE =5 S
8,100,000& 8,100
03 A2 G| 191,000 380,000 A189,000
OO A1 2D 91,000,000 91,000
QIO 2= T2 29
100,000,000& 100,000
301 LBENZ 1,500 0 1,500
14 JIEt2 43 1,500 0 1,500
OZIZ0ON AT A2t 1,500,000& 1,500
IO OH0IE(DI=38H) Al 89,819 540,300 A450,481
207 A OHH| 89,819 540,300 A450,481
01 A1 =9H| 89,819 540,300 A450,481
OBTOI 2 JI=E 4T L PEN=
89,819,000& 89,819
SADIEAIE 2= 7,550,000 0 7,550,000
SESHIIZt E2E 3kt 28+ 7,550,000 0 7,550,000
401 A& HIZLS0HY| 7,550,000 0 7,550,000
01 Al&HI 7,430,000 0 7,430,000
(@)= 4,000,000,000& 4,000,000
OZ3A| 3,430,000,000& 3,430,000
02 Zeldl 100,000 0 100,000
OZeldl 100,000, 000& 100,000
03 A& S CHYI 20,000 0 20,000
OAE20b| 20,000,000& 20,000
HH2FZH| 30,900 25,687 5,213
JI2ZUI(2 ROl &I D) 30,900 25,687 5,213
M2 30,900 25,687 5,213
201 L2 | 17,250 13,860 3,390
01 AtR2telt] 17,250 13,860 3,390
ORNMEI+EH 10,530,000 10,530
OJ 2R+ =S| 6,720,000& 6,720
202 04d| 10,050 8,077 1,973
01 =WOdbI 10,050 8,077 1,973




2 CAIHER 2A : ZRHOIENL D

I, H™SHAH|

EF;I: ;;%;FE—?—EHW&JH%EH (S &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HnsZ
OJlzgR=a o 10,050,000 10,050
203 BR=EH| 3,600 3,000 600
M FA2ILRFAL 3,600 3,000 600
ORKN2EYRFAH 3,600,000& 3,600
HRES(Z22U0IXINL ) 6,885,840 12,475,435 25,589,595
LA HHXIZ 6,513,540 12,475,435 A5,9%61,8%
f—=a=3claae 6,513,540 12,475,435 A5,9%61,8%
705 Hl=3RcI3&E 6,513,540 12,475,435 A5,961,8%
01 tl==dsae 5,966,667 11,892,001 Ab,925,334
020208 HEZ0p2 SALX L] Hl+==&
2 se(seEeDI2)
5,966,667,000& 5,966,667
02 Oll==3 0| Ktatet 290,631 483,434 A 192,803
02020 20k SRS tl===30l
A arsi(EgE2ella) 290,631,000& 290,631
03 Al - EXIGHLD IS0 == &S 200,000 50,000 150,000
ORES~E2 &S24 3%t 227 Ol
SEZ & 200,000,000& 200,000
04 Al - SXISNE DI S0 =3 0| Ktate 56,242 50,000 6,242
OREs~E0H2t S2ME 3kt 23+ Ol
S O0[A+ &tet 56,241,790& 56,242
BEXE 372,300 0 372,300
XA S0 RHat 2t 372,300 0 372,300
311 XL =01 At 372,300 0 372,300
04 XILTHSAO0IKtaE 372,300 0 372,300
0202149 REDIZIIA SJASX 0HY XL
OI Xt &8t 372,300,000& 372,300

_10_




H & 0l & AHS B Ml A
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A= SAIHE= 2A 0 EXNEEN
i AN HHHAH
el EXgE S (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
EXEE 0 3,236,838 3,308,314 NT1,476
= 1,542,091
Al 1,604,747
HEXNHHE S 2,298,101 2,295,094 3,007
= 1,234,091
Al 1,064,010
EXHE AL 1,125,733 1,181,338 A55,605
= 1,089,091
Al 36,642
NYRHAe 2 1,500 1,500
201 LBt 1,500 1,500
01 AtR2telbl 1,500 1,500
ONXHRARS| EaSe
1,500,000 1,500
ZEEIIHSHERARE 2 9,000 9,000
201 L= 9,000 9,000
01 AFS2t2ltl 9,000 9,000
OZdEotgosHEAds F4+E
9,000,000& 9,000
KIETHZEALALS (X1 R) 797,259 875,308 AT78,049
= 797,259
308 AXIHMSOIA 797,259 875,308 AT8,049
= 797,259
01 HREHH B EES 797,259 875,308 AT8,049
O - 7 XNEHEA FEH
797,259,000 797,259
= 797,259
KIETHZAAIS (R E) 3,790 4,500 AT10
= 3,790
201 ZEet2& ] 3,790 4,500 AT10
= 3,790
01 AF2-2t2ltl 3,790 4,500 AT10
OXIETHZAIAE 2 3,790,000 3,790
= 3,790
KIETHZAL AP =& 15,100 15,100 0
201 L2 15,100 15,100
01 AFR2t2ltl 6,100 6,100
OXEMEAL 2133 2 2,100,000 2,100
OXIETHZAL S EHI 4,000,000 4,000
03 HAH2ZHI 9,000 9,000 0
OFAE L B2BAHE(ATS)2Y
9,000,000& 9,000
HESAIXIIE ZAL 288,042 269,855 18,187
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A= TAIHE=S

2N EXNEED

i AN HHHAH
el EXgE S (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
= 288,042
308 XXIHMSO0IA 288,042 269,855 18,187
= 288,042
01 XN ELS 288,042 269,855 18,187
O - = HEZAIXIIE XA
288,042,000 288,042
= 288,042
EXNHEPRFE 6,042 2,475 3,567
201 LBt 2,442 2,475 A33
01 AtR2telbl 2,442 2,475 A33
OEX - BAHE =& R0
2,442,000 2,442
203 BR8] 3,600 3,600
03 AIMF=AIH 2= 3,600 3,600
OEXHE AMHRFLHI
3,600,000& 3,600
4 HAHHE 2E L g8 5,000 5,000
201 L2 5,000 5,000
01 AtR2te|b] 5,000 5,000
Ofs4 HeHHE 22| 5,000,000& 5,000
EXHEMEIADES} 219,457 43,122 176,335
= 145,000
Al 74,457
NE 2| FRFE(RY) 45,000 33,000 12,000
= 45,000
101 e124d| 40,500 30,000 10,500
= 40,500
04 JIZtN2Z2 X SE+ 40,500 30,000 10,500
OXEZe|HR JIZtNZ221 B
40,500,000 40,500
= 40,500
202 044l 4,500 3,000 1,500
= 4,500
01 2L AL 4,500 3,000 1,500
OXH 2| PR =0 4,500,000 4,500
= 4,500
INESE= ST 34,457 5,422 29,035
201 Lt 17,457 5,422 12,035
01 AtR2te|bl 5,000 0 5,000
Olg = Mot 425 78
5,000,000 5,000
02 324l 12,457 5,422 7,035
(OPNESE=F=F i | BENEE 1,572,000 1,572
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Az GAER 2N EXNEDDY
M MRXNBE D
ool EXNBINHIADTS (ol m2)
AR RA BB B(S) - MBAY - B Ofl by A HnE2
OXNHSHPNSAIAL X212
3,850,002 3,850
OXZAAN RX24 7,035,002 7,03
406 XHAHFISH 17,000 17,000
BN EEEEE 17,000 17,000
OEB2f 7Y 17,000,002 17,000
DISSEX L AXXHE FHIA (K 140,000 0 140,000
= 100,000
Al 40,000
308 XX EHHI SO 140,000 0 140,000
= 100,000
Al 40,000
01 RXESHZAEES 140,000 0 140,000
OASXIHTH FH| A
140,000, 0002 140,000
= 100,000
Al 40,000
TAGNFE F275 L 2 510,120 690,320 180,200
SOHIBER(ER)E Y2 FTYY NERS 19,600 19,600 0
201 UBr2H| 17,500 17,500 0
01 AtR22IH| 6,000 6,000 0
ORHIBRI(ER) 22 A28 S 7
6,000,002 6,000
2 BZ2YH| 11,500 11,500 0
OPOHIBHII(ER) RNL4 S
11,500, 0002 11,500
202 Ot 2,100 2,100
01 201 2,100 2,100
OZALMED H27E +30IH|
2,100,002 2,100
BTN BY U BS 190,520 370,720 £ 180,200
201 LEr2 | 720 720 0
2 IZ2H| 720 720 0
OBAMTEZ s28s)| X2
720,002 720
401 Al HI L 2] 189,800 370,000 180,200
01 Al 189,800 370,000 180,200
OUXE BTAX 2Y - BS o A
2= 189,800, 0002 189,800
S EERTE 300,000 300,000
308 XX EHHI SO 300,000 300,000
13 2| BSOS A X RIS ALIH| 300,000 300,000
O1/1,000 £XXSEE H= 300,000,002 300,000
FAT AR 442,791 380,314 62,477
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L CAER SN EXNEED
D MENRBYPE

P FAEZAE (St &)
224 BB . O (30) - NIRAY - BYS A TmET
FAYERRAG 29 1,500 1,500

201 LEt2AY| 1,500 1,500
01 At22teld| 1,500 1,500
OFATANS B4
1,500,000& 1,500
FAEBAIE &X 35,000 76,000 A41,000
403 REXIHASKA=0|H 35,000 76,000 241,000
01 AXISHHA2E X 35,000 76,000 41,000
O=F2JEAE &X & X2
27,000,000 27,000
O=IIN &S E dX Y g2
8,000,000& 8,000
FAEBG FA 214,291 166,814 47,477
308 AXISHHMSOIH 214,291 161,814 52,477
13 SI| 2SI CHeZ A EAIS I 214,291 161,814 52,477
OFAZE2AAE AL 25 & |X
22| 55,377,000 55,377
OFA2FEII2E SHAMIAIS
158,914,000 158,914
FAEE AR EE 12,000 2,000 10,000
201 Let2AY| 12,000 2,000 10,000
01 AR2teld| 12,000 2,000 10,000
O=A23E &2 g8483t 28
2,000,000& 2,000
OFAEBOHNE MAHLFY HIE
10,000,000& 10,000
SNE LB FAHBAE X 126,000 134,000 8,000
403 REXIHMS K201 126,000 134,000 8,000
01 XX SN A= E X 126,000 134,000 A8,000
OFALTZANEE 238 HHEAS
126,000,000& 126,000
HHE2Y CHHAIEE &X 54,000 0 54,000
403 REXISHHIS K201 & 54,000 54,000
01 AXIHANA2EE 54,000 54,000
O E=2Y oHHAIE= 4]
54,000,000& 54,000
TAISZHEE MBIA 2435} 580,577 601,973 N21,396
Nss SUAEEBAHIA 7S 580,577 601,973 21,396
SUHEEEeg 29 2,100 2,100 0
201 LEt2AH| 2,100 2,100 0
01 At22teld| 2,100 2,100 0
O3t82E23 &M
2,100,000& 2,100
GIS DB dal MEolgl X 200,000 200,000 0
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2 CAlHER 2A  EXEE

NI TAZR2IAE AMHIA &A5}

;F?_—i: ANsg sAIEMEIL ;1&4 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T < B Ofl r =e

308 AHXIHM SO & 200,000 200,000
01 AXIEH B LAERS 200,000 200,000
OGIS DB Al M201 B
200,000,000 200,000
SUEBAAE 2H 331,477 352,873 A21,3%6
201 L2 | 298,123 301,813 A3,690
01 At 22|l 3,400 3,400 0
OHMetd BotRIdsl &4 =5
1,400,000& 1,400
O3 E2E MMAARE 72
2,000,000& 2,000
02 E324Hl 294,723 298,413 A3,690
OSUEEANLE SERAES 294,723
o SEAAE FX2el(63)
272,800,000 272,800
o AEN KA (25) 21,923,000 21,923
202 04l 1,500 1,500
01 =LHOLI 1,500 1,500
OS2EE A3 bl 1,500,000& 1,500
405 XHAHE SHI 31,854 49,560 A17,706
01 IR =SFSHI 31,84 49,560 A17,706
OZAJIBAIEE =5 A WAl
31,854,000 31,84
47,000 47,000 0
| 47,000 47,000
47,000 47,000
&
47,000,000& 47,000
HHE2SZH 50,160 54,247 24,087
JI2dH(EXEE) 50,160 54,247 A4,087
FAM2EH| 50,160 54,247 A4,087
201 23| 28,870 31,064 A2,194
01 ArR22ltl 28,870 31,064 22,194
PA2Y 15,370,000 15,370
oJ|l2g2 13,500,000 13,500
17,090 18,383 21,293
17,090 18,383 A1,293
17,090,000 17,090
4,200 4,800 A600
4,200 4,800 2600
4,200,000& 4,200
308,000 357,000 249,000
= 308,000
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A= TAIHE=S

2N EXNEED

M HRSS(EXFEM)

el LHRHAXIE EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
LHEHeH XI= 308,000 357,000 249,000
= 308,000
& - ot EE =& - A& A 308,000 357,000 49,000
= 308,000
701 JIEt2| HSHES 308,000 357,000 249,000
= 308,000
01 JIEtSIHEES 308,000 357,000 249,000
Oa=CANgER & - otk EE &3 - 8
AAF 308,000,000& 308,000
= 308,000
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yE EAE= SA  AED
M ZHIE 2023 =4
ol SZ3l=E 2 EER=E)
AR SN O(BH) - NRAY - BAS ofl b dE= HDS2
d=- A - 35 = 45 . 0l & =
O848 XEHAIL &= KA
429,400,000 429,400
&1 AMoAAG 29 1,000 1,000
201 LBt AH| 1,000 1,000
01 AtR2t2lb| 1,000 1,000
O=ezD Ao9Es 2
1,000,000& 1,000
2HE0| OFSCHE Hel =4 AY 375,000 600,000 A\225,000
403 XAEXISHHSAH=0|A 375,000 600,000 A225,000
01 XX SHH A =2E2 X 375,000 600,000 225,000
OZHE0| OIS0H2 Hel 24AY
375,000,000& 375,000
HES2AZ | 32,259 29,689 2,570
Jl2dd|(A=s) 32,259 29,689 2,570
2M4S9H| 32,259 29,689 2,570
201 LEt2AH| 17,090 15,120 1,970
01 AFR2teltl 17,090 15,120 1,970
ORA2g94+-24| 9,720,000& 9,720
OJ|I2gPre S| 7,370,000& 7,370
202 04| 11,569 11,569
01 2| 11,569 11,569
OJ2g2aa oyl 11,569,000 11,569
203 R =&IH| 3,600 3,000 600
04 EASHAI 2= 3,600 3,000 600
ORNMSY IR 3,600,000 3,600
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H & 0l & AHS B Ml A

ol

BHEI SAIH

O

2024

of
i’
oF
uJ

-

KIO

Hlw

MEE
Ofl &k2h

Ofl &F2H

- SHRAZA) - HRANY - BES

=L

- 24

5,500
40,000
40,000

368,173
368,173
328,173
322,673

55,274,643
54,107,898

55,270,965

49,000
49,000
45,400
45,400
3,600
3,600

240,497,017
240,433,765
238,914,622
750,000
750,000
750,000

6,000
850
105

5,500

3,000

2,500

3,600

3,600

3,600

40,000
40,000
40,000

373,573
293,022,520
216,127,000

21,493,730
47,173
47,173
368,073
361,118
750,000
450,000
300,000
750,000
450,000
300,000
750,000
750,000

18,811,520

21,560,660
295,704,730
216,127,000

58,084,000

58,084,000

58,084,000

216,127,000

295,771,660

Il
Al
J|
Al
Jl
Al
Il
Al
J|
Al

361,118,000
6,000,000&
850,000&
105,000
3,000,000&
2,500,000&
3,600,000

40,000,000&
750,000,000

A=01d

af
dl
SUU=E AIZHE ALY

+

F

SSYUFE AEIHEALE

01 AtR2telbl

405 Xt
403 Xt

L
-




SAHE = A FEEHL

DU 8 E9FE FAH=X
DN A

A2 2N BB O9(3) - HRAY - BES Ofl by A HImEET

J| 450,000
Al 300,000

SRUUOHUEHK BSEI|L2 KA 152,470 116,950 35,520

308 AHXISHHMSOIN 152,470 116,950 35,520

01 AXISHNEZAERZ 152,470 116,950 35,520

OZFLUUOHHEHK B=EI|2E KA

& 152,470,000& 152,470

AT A 2,509,000 0 2,509,000
| 2,509,000

308 AtXISHHMSOIH 2,509,000 0 2,509,000
| 2,509,000

13 2| 2SHIUIsHE & X2 E ALY 2,509,000 0 2,509,000
OFNLU AL 2,509,000,000& 2,509,000
J| 2,509,000

FH3O At 231,774,050 219,601,138 12,172,912
= 214,849,000
Al 16,925,050

308 AXISHMSOIN 231,774,050 219,601,138 12,172,912
= 214,849,000
Al 16,925,050

01 AIXISHNBAEES 231,774,050 219,601,138 12,172,912
FHS0H A 231,774,050,000& 231,774,050
= 214,849,000
Al 16,925,050

ZHOHCl FEIHEALS 342,000 342,000 0
= 228,000
Al 114,000

408 RtXISHHSAH=01& 342,000 342,000 0
= 228,000
Al 114,000

01 XX SHH A =2E X 342,000 342,000 0
OXFOHl =84 I EAS 342,000,000& 342,000
= 228,000
Al 114,000

OH LT AL 55,125,000 0 55,125,000
J| 55,125,000

403 REXIHMS K201 55,125,000 0 55,125,000
J| 55,125,000

02 B ASHUSHAHEE I EAISHI 55,125,000 0 55,125,000
OOH T AFY 55, 125,000,000 55,125,000
| 55,125,000

FHFAHE FHAS XSAMS(RY) 200,000 260,000 60,000
= 100,000
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D SAER S EEFE
U A2 s ==X

‘;9;2 FHeE e (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

Al 100,000
308 AXIHMSOI & 200,000 260,000 260,000
= 100,000
Al 100,000
13 SISO B AR PEAS I 200,000 260,000 260,000
OZgzeld S2AY 200,000,000& 200,000
= 100,000
Al 100,000
FHFAAS F=HaE XA (XIE) 70,000 105,000 235,000
= 50,000
Al 20,000
308 REXIHMSOIH 70,000 105,000 235,000
= 50,000
Al 20,000
01 XN BAELS 70,000 105,000 235,000
OJI=2Zeld(0IFE7)s2AY
70,000,000& 70,000
= 50,000
Al 20,000
QIMBAANF=HEXNEH 2H 400,000 350,000 50,000
308 REXISHMSOIH 400,000 350,000 50,000
13 I 2 S0IeHE &R AL 400,000 350,000 50,000
OQIFBOAFINEXME 2
400,000,000& 400,000
HE MNES3LEES E32 KA 1,400,000 0 1,400,000
= 700,000
Al 700,000
308 AXIHMISO0I & 1,400,000 0 1,400,000
= 700,000
Al 700,000
01 AUXIEHBAEES 1,400,000 0 1,400,000
OFY MNESE3LEES B3 KEAY
1,400,000,000& 1,400,000
= 700,000
Al 700,000
BIZAHK™ H=XE OIAEl XI&AHS 300,000 0 300,000
= 200,000
Al 100,000
308 AXIHMSO0I& 300,000 0 300,000
= 200,000
Al 100,000
01 AXIEHBAEES 300,000 0 300,000
OHIZEAH™ HZF=XE OIAH] KR A
300,000,000& 300,000
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ST 20
el BEFE =28 BHE U B T4

U2 2N B BB - MIRAE - B ofl &t A HIDEZ
01 XN B2 LS 75,000 75,000 0
OSS=8 2cl SAH 2228 HE A
75,000,000& 75,000
SAIARIL TloH K& 1,108,040 0 1,108,040
QIEZ Al AL XA =29 76,040 0 76,040
201 ger=3| 76,040 0 76,040
01 AtR2te|H] 56,240 0 56,240
QIMZAAl HALHKIRANE 28 et
=gl 34,400,000 34,400
OLIEZ Al AUHK2LE 28 A=
1,840,000 21,840
2 s5=34l 19,800 0 19,800
OLIEIHAl JAUHAIEMH S5R2= &
MIAl 18,600,000 18,600
OEEAAl HATLIHAEE AlIEEHI=
Xl 1,200,000 1,200
SAIALI| TloH K& 1,032,000 1,032,000
301 EtE NS 600,000 600,000
03 AR/ 2Z =45 S(RILH) 600,000 600,000
OFNIADI TISHR: OIAM] & A X2
600,000,000& 600,000
307 gl2to| & 432,000 432,000
08 OIXtE2&= 432,000 432,000
O&AIAD| TIohKt 8NM2ES HEOIK X
el 432,000,000& 432,000
e 22X 28,500 28,500 0
SQUSIHAH S2X2 28,500 28,500 0
SOUSHAL M2/ 28 1,500 1,500 0
201 fer23y| 1,500 1,500 0
01 AtR2t2|HI 1,500 1,500 0
OS2USHAL 2922 B4 =&
1,500,000& 1,500
PS4 HHEM =8 27,000 27,000 0
201 er=3| 27,000 27,000
01 AtR2t2lt] 7,000 7,000
OFSt Hl2AN 3d g8
7,000,000& 7,000
03 A= I 20,000 20,000 0
OFS4t HeliAtl ol us 24
20,000,000 20,000
YA HH(=HF D) 38,430 34,752 3,678
2 (=HE ) 38,430 34,752 3,678
2A24H| 38,430 34,752 3,678
201 Let=d] 21,250 19,152 2,098
01 AlR2telHl 21,250 19,152 2,098
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AR SANER SA S

I HHSAA| (T
SRl J|2FHI(FH™ M) (St &)
A - 24 - 38 - HA(3) - MM - BES Oi &F2H %E% Hws2
ORA2I+EH| 11,650,000 11,650
OJ|2g28 Sl 9,600,000& 9,600
202 Ot 13,280 12,000 1,280
01 =WHO4 LI 13,280 12,000 1,280
OJl=2gR=d 0ol 13,280,000 13,280
203 PR =&H| 3,900 3,600 300
M FA2LHRFLAH 3,900 3,600 300
ORN2IELRFAI 3,900,000& 3,900
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